2.500 m

( ) 0.000 m
( ) 0.100
( ) ’

0 30 °

yt 18.00 kN/m?

kN/m?
1| 0.000| 0.000
2| 1.500 | 0.000
3| 6.100 | 2.300 5.00
4| 10.000 | 2.300
(3.000)
(2.000)
(1.000) 1
0.000 2472
1.978
1.000
2.000
0.000

3.000



2

® o ° k ¢°
m 2 m
(0.806) 3.112
0.000| 0.806 30.0 15.0 0.000 0.100 | 51.576 0.639 2.472
0.500| 0.500 30.0 15.0 0.000 0.200 | 45.317 0.494 1.978
2.500| 2.000 30.0 15.0 0.000 0.200 | 45.317 1.978 0.000

Z = tan™ L
tan(@ +0 +j - i)+sec(p +d +j - i

v (cos(j+& +0 ) sin(p +& )) }H
Vv (cos(j-i) sin(e -i-6 ))

0 0 =tan-1k
\/ 1 =Y 2C . 0
4
A X yt
0.392 x 18.00 = 7.06 kN
0.00 kN

/
(7.06  0.00 )/ 2.472

2.86 kN

m)

0 =tan-1k’




2.860 kN/m?
2.500 m

( ) 0.000 m

( ) 2.000 m
17599 kN/m*
0.500

( ) 0.100

oa 7.5 cm
0.000 kN/m?
Yy w 9.800 kN/m’

5| S
W44

y =18.00 y '=10.00 p =30 N=10.0

9.500




y kN/m® 4 N
®° kN/m?
0.500 18.00 10.00 30.0 0.00 15.0 0.0 10.0
10.000 18.00 10.00 30.0 0.00 15.0 0.0 10.0
y kN/m®
©° | KkN/m?
SP- W
a 0.60
a 1.00
a 1.00




Y (0] C Sy h+Q| y whw 0
m m kN/m? kN/m? kN/m? | kN/m? | k|, k (
0.500 0.500 10.00 30.0 7.860 4.900 0.100 [ 5.711
0.500
2.500 2.000 10.00 30.0 27.860 | 24.500 0.200 | 11.310
2.500
10.000 7.500 10.00 30.0 102.860 |  98.000 0.200 | 11.310
a1 \/ 1 Ty 2 0

2C




C
a p Pal Pp Pa2 Pw
kN/m? kN/m? kN/m? | kN/m? [Pa kN/m] Kk , k
0.000 0.355 1.02 1.02
0.500 0.355 2.79 4.90 7.69 | 0.100
0.500 0.437 3.44 4.90 8.34
2.500 0.437 12.18 4.90 17.08 | 0.200
2.500 0.437 2.629 12.18 4.90 17.08
10.000 0.437 2.629 44 .95 197.18 4.90 49.85| 0.200
os’(@ -6 )
Ka= _ _ )
08 o0sd O [ / ing & in(@-B -6 J
os(d6 © os(-3
2
0s(qp -0
“ 0s6 o0sd O { ((p/) ®_0o @B -6 ]2
os(d6 © os(-3
0 -1 0 -1
kl
Pal=Ka Z y Q 2CV Ka
Pal=Xy Q 2C
P 2
Pa2=K Xy Q }
>y 8 (
Pal= —
0 Z ¢ 14
Pp=K Iy 2CV Kp
Pp=X vy 2C
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5-1

( ( P L M=P L K
m KN/m? KN/m? m kN m kN m
0.500 1.02 7.69 0.500 2.18 2.965 6.453 0.622
2.500 8.34 17.08 2.000 25.41 1.664 | 42.201 2.774
3.279 17.08 0.00 0.779 6.65 0.519 3.454 0.079
34.24 52.198 3.474
K=1/6(3-a )a 2 P
o =L/H
5-2
hp = SM/ZP = 52198 /34237 =1525 m
(6)
SP- W
2 | (cm4) 13000 10500 10500
Z (cm3) 1000 810 810
B=( B/H@EI a)) 0.769 m™
El :
El 2.0 x 10500 = 21000 kN m?
B: im
(o a 0.60
B hp= 1.172 2B hp= 2.345 1+2p hp= 3.345
Kh : Kh 17599 kN/m®

h 6910 x %48  =17599 KN/m?

N 31 /43 N 10.0
Lo 3m /4B 3t/ 4x 0.641) 3.68 m
Ho= 3.279 m
H =Ho+Lo= 6.955 m
a 2.0
10 m



6-1

Mmax Lm

vV (1+2B hp)+1

Mmax = Mp x 26 hp X exp
_ V' 3.345 “+1
= 52.198 X > 345
= 58.12 kN m
Lm= 1/ x tanl —at— = 0.378
- B " T o o
6-2
oS
___Mmax 58.120
o s= “oq 810 x 1000
z 810 cm®
a 1.00
o sa 270 N/mm?
6-3
1= LB W wpa= 0640
2Ela B
x (H + Ho)
2= 1+28 hp 5 x Pax (H+Ho) =
2Ela B
0
3
3= Kx (H Ho - 0972 cm
E Ix a

=1 2 3 4.141 cm 7.5

1 1

-tan” TR

X exp —tan'lﬁ

m

= 72 N/mm? OK
Y3 _\_yz yll

i
|
|
!
|

cm |
i
i
[

2.520 cm i
|
i
!
H

OK



()

B
B=( B/H@EI a)) 0.641 m*
El :
El 2.0 x 13000 = 26000 kN m?
Kh : Kh 17599 kN/m®
B: im
a a 1.00
B : (m™)
Ho 3.0/B 0.779 3.0/ 0.641 5.459 m
L H - 0.00 3.0/B 7.959 8.0
SP- W L = 8.0m
0.00——[-]
2.500
7
0.779

\ SP- W

L = 8.0m
4721




